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Solve each problem.

Ex) 86 + 46 = 132

1) 1,166 - 335 = 831

2) 44 + 5 = 49

3) 8,786 - 854 = 7,932

4) 63 + 8 = 71

5) 8,441 - 615 = 7,826

6) 5,688 + 1,551 = 7,239

7) 5,651 - 338 = 5,313

8) 814 + 601 = 1,415

9) 15,196 - 6,335 = 8,861

10) 94 + 13 = 107

11) 1,638 - 776 = 862

12) 323 + 89 = 412

Answers

Ex. 132

1. 831

2. 49

3. 7,932

4. 71

5. 7,826

6. 7,239

7. 5,313

8. 1,415

9. 8,861

10. 107

11. 862

12. 412
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Solve each problem.

8,861 107 5,313 831 7,239

7,826 71 49 7,932 1,415

Ex) 86 + 46 = 132

1) 1,166 - 335 = 831

2) 44 + 5 = 49

3) 8,786 - 854 = 7,932

4) 63 + 8 = 71

5) 8,441 - 615 = 7,826

6) 5,688 + 1,551 = 7,239

7) 5,651 - 338 = 5,313

8) 814 + 601 = 1,415

9) 15,196 - 6,335 = 8,861

10) 94 + 13 = 107

Answers

Ex. 132

1. 831

2. 49

3. 7,932

4. 71

5. 7,826

6. 7,239

7. 5,313

8. 1,415

9. 8,861

10. 107
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